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8. For the equation 42’y = 34 y* — 6x% + 5z, the slope of the tangent line at the point
(2,3) is =

9. For the function f(z) = 23 — 3% — 24z + 27 on the interval [—1,5], the absolute
(global) maximum value is =

10. The area between two curves y = 1 —z and y = €® from z = -1 tox = 4 is

= AR (BB 10 55,3430 9) AR R, FRIR T .

1. Determine the improper integral / ® T__:v dx is convergent or divergént
. _ o T at.

2. Consider the function f(z,y) = 16zy—z*~2y%. Find all relative extrema and identify
any saddle point.

3. Find the volume under the surface f(z,y) = e V' and over the domain D which is the
region bounded by curves y =z, 2 =0 and y = 3.




